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1
Introduction

It is felt that some part of the TS25.450 and TS25.453 might cause inconsistency interpretation and this contribution tries to confirm one interpretation. 

2
Discussion

· In 3GPP TS 25.450 (latest release 5 version, 5.2.0) "UTRAN Iupc interface general aspects and principles" subchapter 4.5.1.3 it is stated that:

4.5.1.3
SCCP connection establishment

Information Exchange services

A new SCCP connection is established when the RNC initiates a class-1 elementary procedure for Information Exchange services and there is no signalling bearer existing for this purpose.

· And in TS 25.453 (latest release 5 version, 5.11.0) "UTRAN Iupc interface Position Calculation Application Part (PCAP) signalling" chapter 6 it is stated that:

6
Services Expected from Signalling Transport

Signalling transport [3] shall provide the following service for the PCAP.

1.
Connection oriented data transfer service. This service is supported by a signalling connection between the RNC and the SAS. It shall be possible to dynamically establish and release signalling connections based on the need. Each point-to-point operation shall have its own signalling connection. The signalling connection shall provide in sequence delivery of PCAP messages. PCAP shall be notified if the signalling connection breaks.

Based on these 2 parts of the specification, there may be 2 different interpretations.

1. Only first Information Exchange Request message between RNC and SAS will trigger the SCCP connection establishment. And subsequent Information Exchange Request message will reuse the existing SCCP connection between RNC and SAS.

2. Every Information Exchange Request message will cause a new SCCP connection establishment.

3
Conclusion and Proposal
Two different possible interpretations from TS 25.450 and TS 25.453 are identified in section 2 and it is proposed that RAN3 confirms only one interpretation as the correct one.
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